



St. Louis County, Minnesota

Date of Report: 5/14/2025 4:38:03 PM

General Details

 Parcel ID:
 475-0010-01335

 Document:
 Abstract - 01377152

Document Date: 03/31/2020

Legal Description Details

Plat Name: NEW INDEPENDENCE

SectionTownshipRangeLotBlock95217--

Description: NE1/4 OF NE1/4

Taxpayer Details

Taxpayer NameDALAINA LIND RICCIand Address:6880 MCARTHUR RDCANYON MN 55717

Owner Details

Owner Name RICCI DALAINA

Payable 2025 Tax Summary

2025 - Net Tax \$993.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$1,078.00

Current Tax Due (as of 5/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$539.00	2025 - 2nd Half Tax	\$539.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$539.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$539.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$539.00	2025 - Total Due	\$539.00	

Parcel Details

Property Address: 6880 MCARTHUR RD, CANYON MN

School District: 2142
Tax Increment District: -

Property/Homesteader: LIND RICCI, DALAINA M.

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$49,300	\$141,600	\$190,900	\$0	\$0	-	
111	0 - Non Homestead	\$15,700	\$0	\$15,700	\$0	\$0	-	
	Total:	\$65,000	\$141,600	\$206,600	\$0	\$0	1772	





St. Louis County, Minnesota

Date of Report: 5/14/2025 4:38:03 PM

Land Details

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

		Improve	ement 1 D	etails (HOUSE	=)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Ft ² Basement Finish Style Co		
MANUFACTURED HOME	2003	1,2	96	1,296	- DBL - DB		
Segment	Story	Width	Length	Area	Foundation		
BAS	1	27	48	1,296	FLOATING SLAB		
CW	1	9	18	162	PIERS AND FOOTINGS		
DK	1	4	18	72	PIERS AND FOOTINGS		
DK	1	6	10	60	POST ON GROUND		
DK	1	8	11	88	PIERS AND FOOTINGS		
OP	1	4	13	52	PIERS AND FOOTINGS		
Bath Count	Bedroom Co	ount	Room C	Count	Fireplace Count	HVAC	
2.0 BATHS	2 BEDROOI	MS	-		- Ca	&AIR_COND, PROPA	
		Improveme	nt 2 Deta	ils (DET GARA	AGE)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	² Basement Finish Style Co		
GARAGE	1994	93	6	936	- DETACH		
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	26	36	936	FLOATING	SLAB	
		Improvem	ent 3 Deta	ails (SHED 12X	(16)		
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De	
TORAGE BUILDING	0	19	2	192	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	12	16	192	POST ON G	ROUND	
		Improvem	ent 4 Deta	ails (SHED 10X	(12)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De	
TORAGE BUILDING	0	60	0	60	-	<u>-</u>	
Segment	Story	Width	Length	Area	Foundat	ion	
The state of the s		6	10	60	POST ON GR		





St. Louis County, Minnesota

Date of Report: 5/14/2025 4:38:03 PM

							.025 4.36.03 FI	
		Improver	ment 5 Details (SLEEPER)				
Improvement Type Year Built		t Main Fl	Main Floor Ft ² Gross Area Ft ²		asement Finish	ement Finish Style Code & Desc		
SLEEPER 0		44	448 448		-		-	
Segment Story		ry Width	Length Area		Foundation			
BAS	1	14	8	112	POST ON GROUND			
BAS	1	14	24	336	POST ON GROUND			
LT	1	6	9	54	POST ON (
OPX	1	6	7	42	POST ON (GROUND		
		Sales Reported	to the St. Loui	s County Audi	tor			
S	ale Date		Purchase Price		CR	V Number		
C	3/2020		\$162,000		236262			
1	1/1992		\$0		101981			
		A	ssessment Hist	ory				
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	201	\$49,300	\$137,000	\$186,300	\$0	\$0	-	
2024 Payable 2025	111	\$15,700	\$0	\$15,700	\$0	\$0	-	
•	Tota	\$65,000	\$137,000	\$202,000	\$0	\$0	1,722.00	
	201	\$42,800	\$124,300	\$167,100	\$0	\$0	-	
2023 Payable 2024	111	\$13,200	\$0	\$13,200	\$0	\$0	-	
-	Tota	\$56,000	\$124,300	\$180,300	\$0	\$0	1,581.00	
	201	\$33,600	\$128,200	\$161,800	\$0	\$0	-	
	111	\$12,600	\$0	\$12,600	\$0	\$0	-	
2022 Payable 2023	151	\$2,200	\$5,700	\$7,900	\$0	\$0	-	
	Tota	\$48,400	\$133,900	\$182,300	\$0	\$0	1,596.00	
2021 Payable 2022	201	\$33,600	\$116,900	\$150,500	\$0	\$0	-	
	111	\$12,600	\$0	\$12,600	\$0	\$0	-	
	151	\$2,200	\$5,200	\$7,400	\$0	\$0	-	
	Tota	\$48,400	\$122,100	\$170,500	\$0	\$0	1,468.00	
		-	Tax Detail Histo	ry				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land	Taxable Bui MV MV		otal Taxable MV	
2024	\$1,167.00	\$85.00	\$1,252.00	\$50,314	\$107,78		\$158,099	
2023	\$1,275.00	\$85.00	\$1,360.00	\$43,691	\$115,93		\$159,622	
2022	\$1,315.00	\$85.00	\$1,400.00	\$43,110	\$103,69	95	\$146,805	





St. Louis County, Minnesota

Date of Report: 5/14/2025 4:38:03 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.